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A simple pendulum of mass “nr’, length ‘I and charge “+4’ suspended in the electric field
produced by two conducting parallel plates as shown. The value of deflection of pendulum

in equilibrium position will be :

Ly
Medin| |
F (K) -V,
"I"Vz.m-% .m oy
ul
A arr
=1
5 d 3
Options :
| {i o CG1V1 + V) }
1 mg  (Cq + C)(d—t)
mﬂ—{i S Nk Va) }
, mg  (Cq + C)(d—t)
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T e Sferehrd R ‘W T T IAR g O T N SR B W e
T TR Srefed o &7 ercd 3T, el Rl Sl ey [
e

L
Nedur] |
(K -V
’ Vz..... % .m s
t
/A air
=1
¢ d A

Options :

tan_{ix Ci(Vi + V,) }
: mg (C1 + Cz)(d — f)

tan_{ix Co (Vi + Vp) }
, mg  (Cy + C)(d — t)
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tan_l 9 p e
5 mg (Cy + Cy)(d—t)

tan 1) 9 X
. mg  (Cy + G)(d - 1)

Question Type : MCQ Is Question Mandatory : No

Cy (Vo = Vq)

Cr(Vp = V)

Correct Marks : 4 Wrong Marks : 1

Find the truth table for the function Y of A and B represented in the following figure.

AO0——

D_

Bo Do
Options :
A B Y
0o | o | o
0 | 1 | 1
1 | o | o
1 | 1] o
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
A B Y
o | o | o
o | 1| 1
1 0 | o
1 1 | o
1.
A B | Y
0 | 0 | 1
o | 1| o
1 0 | 1
1 1| 1
2.
A B Y
o | o | o
o | 1| 1
1 0 | 1
1 1| 1
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle of mass M originally at rest is subjected to a force whose direction s constant but
magnitude varies with time according to the relation

2
F=F01—[£]
T

Where Fy and T are constants. The force acts only for the time interval 2T. The velocity v of
the particle after time 2T is:

Options :
. FoT/3M

| 4F T/3M
, FoT/2M
, 2FT/M

Question Type : MCQ Is Question Mandatory : No
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M TR V1 YT ReR ST R O Tt g 3 el fon e ag W o
S T H‘{l'[%ﬂ 30 F, 2T ¥ e 9, 7 o T

U9 T 3 AT, 2T SR A O 9 o 9.
Options :
| FgT/3M

| 4F T/3M
, FoT/2M
, 2FT/M

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List II.
List [ List 11

(a) Capacitance, C () MILIT-3A-1
(b) Permittivity of free space, €, i M- IL3T4A2
(c) Permeability of free space, n, (i) M~1L72T*A?2

o

(d) Electric field, E (iv) MIL1T-2A-2
Choose the correct answer from the options given below :
Options :

. (@) = (i), (b) = (iv), (c) — (i), (d) — @)

, (@ = (), (b) = (i), (c) — (i), (d) — (i)
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5. (@) = (i), (b) = (i), (¢) = (v), (d) = (i)

, (@) = (), (b) = (ifi), (c) — (1), (d) — (1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IS 1 RIS YTST 1T el

RICIR qral 11
(a) HWERdl, C ) MALETAA
(b) HF STAERUTS Wagdis, e, (i) M~!L73 T A2
(c) Y= STAEROTE! qrd, u, (i) M- 1L 2T4A2
(d) Ta=ga &t dtera, E (iv) MILIT-2A-2
Tl e gaigd Arg SR fHae.
Options:

, (@) = (iii), (b) = (iv), (¢) = (i), (d) = (@)

, (@) = (), (b) = (i), (c) — (iii), (d) — (i)

;. (@) = (iii), (b) = (i), (c) = (), (d) = ()

5 (@) = (), (b) = (iii), (c) — (i), (d) — (1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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One mole of an ideal gas is taken through an adiabatic process where the temperature rises
from 27°C to 37°C. If the ideal gas is composed of polyatomic molecule that has 4 vibrational
modes, which of the following is true ?

[R=8314]mol 1K™!]
Options :

work done by the gas is close to 582 ]
1.

5 work done on the gas is close to 582 ]

3 work done by the gas is close to 332 ]

A work done on the gas is close to 332 ]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T A ey T WA YRR S Y AR 27°C TR 37°C T . O e
T T N TR S et el 4 FUND TOR A, Welledl AR G A7
[R=8314] mol 1 K1 ]

Options :

| AT HeTel P TADAN 582 ] 3.

e S 1

, IR Peiel BRI TI@IE 582 ] 3ITe.

, T bl BRI AR 332 ] 3.

e "

, TR Ppofel PR STawar 332 ] T
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below is the plot of a potential energy function U(x) for asystem, in which a particle is
in one dimensional motion, while a conservative force F(x) acts on it. Suppose that
Emech = §], the incorrect statement for this system is :

0y

= W

0 Y X X Xy

[ where K.E. = kinetic energy |

Options :
, Atr=xy K.E. is greatest and the particle is moving at the fastest speed.
, atx<y, KE. is smallest and the particle is moving at the slowest speed.

N ab &> x; K.E. is constant throughout the region.

. at x'= xp KE. =4 ],

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 gcollegeduniag
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wedre! R ot Bat U(y) SCrA Sereratorl a1 & U g o o % ey el
T Fy) T @0 TE. T B = 8], HENT G foe e,

u)f

b

Options :

| v=, SR e ool AETH o8 T BT W W 9 T 2l

< xy S IO o YA ST T 0T SR A AR

, X > X, I, HQ A RS ot ReR ve.

X = X, SAMT IS Holi =4 .
4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Consider the following statements :
A Atoms of each element emit characteristics spectrum,

B, According to Boht's Postulate, an electron in a hydrogen atom, revolves in a certain
stationary orbit.

C. The density of nuclear matter depends on the size of the nucleus.
D.  Afree neutron is stable but a free proton decay is possible.

E. Radioactivity is an indication of the instability of nuclei.

Choose the correct answer from the options given below :

Options:
: A, B and E only

A, C and E only
2.

B and D only
3.

, A B,C,Dand E

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A RN G G
A TS Yo o R SR g faRe TRi SeY <,

B. &l YR TGN, TG AVl Ferdgr fafme Rer wé gof @l
C. el TEJ G YGelTeed STORTER Haeiq .

D. Y& g ReR M T T YIS BN T e,

A 0 s i O R G S

el foeen w9 SR e,
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A, B, E®E

—

A, C EwE

B9 D %dd

w

A,B,C,DTE

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A raindrop with radius R=02 mm falls from a cloud at a height /1=2000 m above the
ground. Assume that the drop is spherical throughout its fall and the force of buoyance may
be neglected, then the terminal speed attained by the raindrop is -

[ Density of water £, =1000 kg m™>

and Density of air f,=12kgm™>,

¢=10 m/ g2

Coefficient of viscosity of air =18% 107> Nsm~?]

Options :
1 250.6 ms—1
, 4.94 ms—1

, 144 ms—!

4 43.56 ms—1!

Question Type : MCQ Is Question Mandatory : No gcollegeduniag
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Correct Marks : 4 Wrong Marks : 1

Tl T S B R=02 mm 3R A TOURGT K f=2000 m SN Feredl S

Tedl. W T o 99 TSAN SR AR Vel A SR 96 et e R e
dfar Frafderen flem 4 .

| T B f, =100 kg m™3

q % 7 f,=12kg m~>,

g=10 m/s?

gdder fedhequren Tid=18x 10~ Nsm ™2 |

Options :
1 250.6 ms—1

, 4.94 ms~1
, 144 ms—!

4 43.56 ms—1!

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 -4 x

3
A physical quantity ‘i’ is represented by the formula y = "y g | 2

If the percentage errors found in vy, m, 7, | and g are 18,1, 0.5, 4 and p respectively, then find
the value of v and p.

Options :
1 4and = 3

>, Dand * 2 )
collegedunias
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
)
Wi =y y=mtrigtl
& T Sederell 3. R CHbERKiE 9@ y, m, 1,19 g WO AAW 18,1, 05,47 p 8,
W T p Y A T

Options :
1,49 £ 3

16

- 3
sl
4. 3 2

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two Carnot engines A and B operate in series such that engine A absorbs heat at T, and
rejects heat to a sink at temperature T. Engine B absorbs half of the heat rejected by Engine A
and rejects heat to the sink at Ty, When workdone in both the cases is equal, the val -~ ™

1s.
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o B o A T B TE ¥ 3R A 6 o A T, A 99T 9

o 9 T AR e 991 9% o, B ot A afteiam et ceren 9t 991 A

¥l 9 T, ST Seberell O G <o, e Q) ST dhetel B RE A, T e
9.

Options :

B g i
3
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The planet Mars has two moons, if one of them has a period 7 hours, 30 minutes and an
orbital radius of 9.0 10° km. Find the mass of Mars,

2
Given 4% =6x 10" N m l-:g2
Options :
5.96 x 1019 kg
1.
3.25 x 1021 kg
2.

6.00 % 10?3 kg
3.

7.02x 10% kg
4,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UG D R R A A T G e A U A e R |
9.0 10° km &6, T TGN e

2
K 4% =6x 10N m? kgz}

Options :
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19
, 5:96x 101 kg
3.25%x 10%! kg
6.00x 1023 kg

7.02x10% kg
4.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An object of mass .5 kg is executing simple harmonic motion. Its amplitude is 5 cm and time
period (T) is 0.2 s. What will be the potential energy of the object at an instant = %

starting from mean position. Assume that the initial phase of the oscillation s zero.

Options:

, 62x1073]

103
, 12103 ]

, 0.62]

1N3
, 62x103 ]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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05 kg TR 9 T G T 3. R AW 5 cm 31 T B (T) 025 2. o
4 7% 7oy e e &Y ¥ 1 g Rk et t{s g it o 7
7 6 Qe goail Aer Red I o

Options :

10-3
. 62x1073]

, 1.2x10% ]

, 0.62]

103
, 62x103]

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An automobile of mass “m" accelerates starting from origin and initially at rest, while the
engine supplies constant power P. The position is given as a function of time by :

Options:

s
£2t2
1 8ni
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

'’ TR YR TRTOGURET % 21 Tiofs FRemamyd Tim 2. ® ot
ReR T P QR0 F¥0, vl feran e 3l feedl .

Options:

1
ﬁth
1 8m
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Figure A and B show two long straight wires of circular cross-section (a and b with a <b),
carrying current [ which is uniformly distributed across the cross-section. The magnitude of
magnetic field B varies with radius r and can be represented as :

Cinei
| N\

Fig. A Fig. B
Options :

BA

=
o
'_*\.i'
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

It A 9 B & AR FICHs el & i, T AR G (a9 b 94 a <b) WG
[ 81 98 9 i FICYER THEAN qey 9 9. 9o & i B 9 el v P
7wl 4 1 I S .

UI
Il A

Options :

(41

(S
el B

B4
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two identical particles of mass 1 kg each go round a circle of radius R, under the action of
their mutual gravitational attraction. The angular speed of each particle is :

Options :
S
. V2Rr?

2.
Ld
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 kg T TR S THARE BU AGERIG Toed SIHYUTS agaar R A
VI, T @ MY o 3.

Options :

=
. V2r?

1[G
—«./—3
2. = R

o fd
. 2R\G
2G
=3
. VR
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An electron and proton are separated by a large distance. The electron starts approaching
the proton with energy 3 eV. The proton captures the electron and forms a hydrogen atom in
second excited state. The resulting photon is incident ona photosensitive meal of threshold
wavelength 4000 A. What is the maximum kinetic energy of the emitted photoelectron?

Options:
. 33 eV

5 No photoelectron would be emitted

5 7.61 eV

4 141 eV

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

eI 4 WEH U WG SR b defet 9. et 3 eV Hu e WV G
XAl WeH gerdgiTen Thed 4 SR ekl IV FUgTEl 9 TR SN, RO
THIGHT 4000 A & GIRGRRA et JevTareda) STeR, ST &, &Y TEerca Jamgerag al
W el ol {3

Options :
. 33 eV

5 UpIEIgedeiy dex TSUNR el

, 7.61 eV
gcollegeduniag
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4 141 eV

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The expected graphical representation of the variation of angle of deviation ‘3" with angle of
incidence ‘i' in a prism is :

Options :
i
T:"h
&
1 }X
1. I%
TA
)
— R
2 b=
b
TA
)
> X
I —>
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

firgmmed feer SR ee ‘6 9 SR B 7 I oufd o oW
it .

Options :
4
T.-“b.
0
1 >X
TA
5 \
—> X
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A 100 () resistance, a 0.1 pF capacitor and an inductor are connected in series across a
250 V supply at variable frequency. Calculate the value of inductance of inductor at which
resonance will occur. Given that the resonant frequency is 60 Hz.

Options :
. 7.03x10"° H

, 703 H
, 0.70 H

4 70.3 mH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100 0 3, 0.1 uF oA 9 fdegd vai® 3 250 V @ T qRARAT (e T
Wigel. e WWE Bl o Y el Brel. WS aRana 60 Hz foerelt 9.

Options:

_5 .
1. 703x107°> H gcollegedunlag
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, 703 H
, 0.70 H

4 70.3 mH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The resistance of a conductor at 15°C is 16 {0 and at 100°C is 20 (2. What will be the
temperature coefficient of resistance of the conductor ?

Options :

. 0.003°C—1
, 0.010°C 1
5 0.033°C~1

4 0.042°C—1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

15°C T Tl erel 19 16,0 91 9 100°C T 20 ) 9. edrea 1o A 0
foh ae?
Options:

. 0.003°C—1
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, 0.010°C~1

5 0.033°C~1

4 0.042°C—1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What will be the magnitude of electric field at point O as shown in figure ? Each side of the

figure is I and perpendicular to each other ?

A-g C I D+
o (+9)

[ ]
e

E F H
Options :
19
: deg [°
2
——2(J3)
2. dmeg 21°
~ o 8535 )
, 4meg (212)
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3l SRy O foqe g dkrear & oo el foxil ar? Sl Td
a9 | 9T T THEN aw e,

A €1 D
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| I

UL

E F H
Options :
.1 .9
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Physics Section B
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Section Number :

Section type :

Mandatory or Optional :
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Question Shuffling Allowed :
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Correct Marks : 4 Wrong Marks : 0
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8643511076
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The maximum amplitude for an amplitude modulated wave is found to be 12 V while the
minimum amplitude is found to be 3 V. The modulation index is 0.6x where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

S ORI AT e M 12V el TR e AR 3V oeedel. JUNadd i

061 I8 T .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the circuit shown, the value of current at time t=3.2 s will be

T A
]
R=1()

V(Y

-
p—
| e M e
[_}__}_--——.---—.——.

Figure 1 Figure 2

[Voltage distribution V(t) is shown by Fig, (1) and the circuit is shown in F
gcollegeduniag
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TNINeTcdl RTINS, t=3.2 W SaM Nl fomd A ¥,
A
. I | R=10)
V(t) | — W
_________ i vy -
IR 9 D T
0 1 2 3 4
t

o 1 ot 2
[@Ieedd 912U V(t) 3 g (1) 1ed Srefder o 9 URuY g (2) Hel arafde o, |

Response Type : Numeric
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Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the given figure the magnetic flux through the loop increases according to the relation
d(f)= 10f2+20t, where dpisin milliwebers and  is in seconds.

The magnitude of current through R=2 (} resistor at t=5 s is mA.
X X X X X
R=21]
— W=

X X X X X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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foete argr, e A af¥are () =101+ 20¢ &1 ST @, W g, @
fiefldey 7ed T +9 Fher ae.
=5 s HHTHI R=2 () VeI O vl fo mA 3.

X X X X X
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The K X-ray of molybdenum has wavelength 0.071 nm. If the energy of a molybdenum
atom with a K electron knocked out is 27.5 keV, the energy of this atom when an L electron
is knocked out will be keV. (Round off to the nearest integer)

[h=414x10"5 eVs, c=3x10° ms ™! |
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText gcollegeduniag
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Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

K X-fexo Aictafemell el 0.071 nm &6, R HeluioT S K gereg ae¥
FERHI Gl 275 keV 9%, Wl L Geldld Qe dreeh ol Ol o keV
3. (Fawa Qe o)

[h=414x10"P eVs, c=3x108 ms 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The water is filled upto height of 12 m ina tank having vertical sidewalls. A hole is made in
one of the walls ata depth /1" below the water level. The value of i for which the emerging
stream of water strikes the ground at the maximum range is m,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

9w P Gl T 12 m 9 el W o, e e ‘' @t e Pid

6 (o5 TEel. WY Tooiedl YOI B VR TET Teedia TSV I 4 T
m I,

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the given figure, two wheels Pand Q are connected by a belt B. The radius of P is three
times as that of Q. In case of same rotational kinetic energy, the ratio of rotational inertias

1_1} will be x : 1. The value of x will be :
Iy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal .
collegedunias

Text Areas : PlainText
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Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

feerean e, B & WeeaM P4 Q R & 916 Wisereh aed. P Frww Q = e e,

T T ol ARG S, PR e {I_l} TORR 11T 1 9 e Ml
Iy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

L
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A small block slides down from the top of hemisphere of radius R=3 m as shown in the
figure. The height '’ at which the block will lose contact with the surface of the sphere is
m,

(Assume there is no friction between the block and the hemisphere)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TG W a ol R=3 m o Seicl Jemicred SIpM el 9Id
el o e R e m 98,

(3% 7T 6 O T et T T B )
N\
A (R~h)

A .
collegedunias
India’s largest Student Review Platform

Response Type : Numeric £



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A swimmer wants to cross a river from point A to point B. Line AB makes an angle of 3(°
with the flow of river. Magnitude of velocity of the swimmer is same as that of the river. The
angle 8 with the line AB should be °, 50 that the swimmer reaches point B.

0
3013

LILLE

A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

L
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T TRURIE A RGUR B Riqwid 78 TR SR ae. AB YW T R 30° aH
Y. SRR 4l RO Feiaed e, RN B Rqude WRrvamel AB Yl derer
B § * el e

o
3

A

Response Type : Numeric

LILLE

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A particle executes simple harmonic motion represented by displacement function as
1(t)=A sin (0t +¢)

If the position and velocity of the particle at t=0s are 2 cm and 20 cm s~ respectively, then

its amplitude is ¥v2 cm where the value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers : gcollegedunlag
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T B A e T e S v

1(t)=A sin (ot +9)
9 T o, WWMHWt=OSWW2cmMmms'1WWW
o 2em I ITE AR,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The difference in the number of waves when yellow light propagates through air and vacuum
columns of the same thickness is one. The thickness of the air column is mm.

[ Refractive index of air=10003, wavelength of yellow light in vacuum= 6000 A]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

L
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i N i e S s R e Sl M e R A e
TG 16 . 0l T o mm &,

(B4 AT = 10003 fafaa fiawn yamd! e = 6000 A

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Chemistry Section A
Section Id : 864351850
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 8643511077
Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No gcollegedunias
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Correct Marks : 4 Wrong Marks : 1

Select the correct statements.

A) Crystalline solids have long range order.
B

i

Crystalline solids are isotropic.

(
(
(C) Amorphous solids are sometimes called pseudo solids.
(D) Amorphous solids soften over a range of temperatures.
(E)  Amorphous solids have a definite heat of fusion.

Choose the most appropriate answer from the options given below :

Options :

, (&), (©), (D) only

, (A), (B), (E) only

, (©), (D) only

, (B), (D) only

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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R fagm fras.

(A) THICHEERI TAME] Yo" qRARGT e

(B) VhichEawenilel 89 WHGRI® ITHawN.

(C) SRHicCHl I BTG WS B 3 Hledd.
(D) SRHfCH BF AMHMRAT THl Joodray HS; BIdw.
(E) or&pfcal geiamel fadeuarar 9w & FfRed arar.
Qeilel QY Irg ) fFaeT

Options :
(A), (©), (D) ®ad

1.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the Thompson model of the atom was correct, then the result of Rutherford’s gold foil
experiment would have been :

Options:

, Al of the a-particles pass through the gold foil without decrease in speed.

,0Particles pass through the gold foil deflected by small angles and with rectuc
collegedunias
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3 a-Particles are deflected over a wide range of angles.

, All a-particles get bounced back by 180°.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WY o O TG R A R GRBreA WA T R e
Il

Options:

. T o BT A THAALT 9T T BH B SAwI

, o T R I T BT B S B A T &t

, o BU § DI Yar" e [9afd e

. T4 o BT 180° 7 SAC Wbl SIidd

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements ; one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A 50,(g) is adsorbed to a larger extent than H,(g) on activated charcoal.

ReasonR:  50,(g) has a higher critical temperature than Hy(g).

In the light of the above statements, choose the most appropriate answer from the .
: gcollegedunlag
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Options :

: Both A and R are correct and R is the correct explanation of A.
5 Both A and R are correct but R is not the correct explanation of A.

3. A is correct but R is not correct.

4. A is not correct but R is correct.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el 3 fagm foorel ofed. @ @oF A 3T A PR R 3 forfecrel o
ST A fhaRiel ISR SO, 9 H, Tguen Wi e aiferanfi gl
GRUR: SO, HWid A H, Y& TR 3.

e e oreeT, el Wi a7 S e

Options:

, Q8 A M7 R RIER SfTed ST R 2 A T IRIGR TGO 38,

, T8 A T R SR ST WY R & A T I WG T,

, A SRR 318 TG R DA e,

, A TP I TG R TER 3ATE.
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The CORRECT order of first ionisation enthalpy is :

Options :

Mg<Al<P<S
1.

Mg < Al<S<P
2.

Mg <S < Al<P
3.

Al<Mg<S<P
4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
YA IMAT Hordl FRIE HH <

Options :
Mg < Al<P<S
1.

Mg < Al<S<P
2.

Mg <S < Al<P
3.

Al<Mg<S<P
4.

Question Type : MCQ Is Question Mandatory : No
gcollegedunlas
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The addition of silica during the extraction of copper from its sulphide ore
Options:

, converts copper sulphide into copper silicate
5 reduces copper sulphide into metallic copper

3. converts iron oxide into iron silicate

A reduces the melting point of the reaction mixture

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TGS I derl o Bred e Trevar SR e,

Options :

1 HUY APhgSd hIUY NfTbcHs] BUAY BRI

b \

5 D4 weWhissd RIS Ellg"lﬁif &0 HRUATHIC]

N A SRS 3ad fafeTheas $UidR HRUITETe]

4 SRR fHsomeT Sguie HH BRI

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The number of neutrons and electrons, respectively, present in the radioactive isc )
, collegedunias
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Options :
1 2and 1

> 3and 1

3 2and 2

4 1and 1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ROMRa], ErgIoH el eI U geterc el WA 3ehd e,
Options:

. 2 et 1

), 3 ST 1

3. 2 Ser 2

5. 1 ST 1

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L
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Match List - I with List - II ;

List - I List - I
(a) Li ()  photoelectric cell
(b) Na (i) absorbent of CO,
¢ K (iii) coolant in fast breeder nuclear reactor
(d) Cs (iv) treatment of cancer
(v)  bearings for motor engines

Choose the correct answer from the options given below :

Options :

;. (@) - (iv), (b) - (ii), () - (i), (d) - (ii)
, (@)= (v), (b) - (@), (¢) - (ii), (d) - (iv)
;. (@) - (v), (b) - (i), () - (iv), (d) - ()
5. (@) - (v), (b) - (i), (c) - (ii), (d) - (i)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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e - 16 - 11 RIS o

| - | el - 11
@) Li () VR T
(b) Na (i) CO, YT HwS
() K (iii) g SISy gferiaR RafFey 78 I8 RO
(d) Cs (iv) HHITAT TR

(v) WX gfomran saimed

Qeflel TR R S Fae
Options :

, (@) - (iv), (b) - (i), (c) - (i), (d) - (i1)
, (@) - (), (b) - (i), (c) - (ii), (d) - (iv)
5. (@) - (), (b) - (i), () - @), (d) - ()

5, (@) - (v), (b) - (i), (c) - (i), (d) - (1)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Number of C1=0 bonds in chlorous acid, chloric acid and perchloric acid respectively are:
Options:

. 1, 1and 3

3;1Tand 1
2.7 colleged
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3. 1, 2 and 3

4 4,1 and O

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NG T, Tl 3T I Weiked kil Cl=0 Tl T
I,

Options:

1,1 37fT 3

1

, 3,1 amfr 1

1,2 anfer 3

3

, 4,1 8T 0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

To an aqueous solution containing ions such as ARt Zn?t Calt, Fet, Nitt, Ba2t and

Cu®*t was added conc. HCJ, followed by H,S.

The total number of cations precipitated during this reaction is/are :

Options :
1. 3

L
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ARt 7ndt Calt, Fe¥t, Ni2t, Balt anftT Cult MUY Vel Vel GIau i

HCl 3 WG H,S Bel. &1 f¥ieed et S eemma) Tqu e .

Options :

1.3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L
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Given below are two statements :
Statement I+ [Mn(CN)]*, [Fe(CN)(*~ and [Co(C,0,),* are d’sp? hybridised.
Statement II : [MnC16]3‘ and [FeF6]3‘ are paramagnetic and have 4 and 5 unpaired

electrons, respectively.

In the light of the above statements, choose the correct answer from the options given

below :

Options :

1. Both statement I and statement II are true
, Both statement I and statement II are false
3 Statement I is correct but statement II is false

4. Statement I is incorrect but statement II is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

et Qi faem foefed a7

faur 12 [Mn(ON) PP, [Fe(CN)f*~ &l [Co(CL0)~ dsp® TR e,

e 11 [MnCLP~ 91 [FeF - & Wgefiry o o 4 311 5 W gl getegi o
red.

TIer TR 3, Welel TME T T el

Options :

, Taa= 1 9 fams I SR8 SRR e,
gcollegeduniag

~



, faem 1 faem 11 <t 9 aimed.

faum™ 1 SRR 3 T faum= 9@ arme.
3.

, [ 1 9% ome To1 fRm 11 aRTeR 3re.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II :

List - I List - I
(compound) (effect/affected species)
(a) Carbon monoxide (i)  Carcinogenic
(b) Sulphur dioxide (i) Metabolized by pyrus plants
(c)  Polychlorinated biphenyls (i) Haemoglobin
(d)  Oxides of nitrogen (iv) Stiffness of flower buds

Choose the correct answer from the options given below :

Options :

, (@) - (iid), (b) - (iv), (0) - (i), (d) - (ii)
, (@) - (i), (b) - (iv), (c) - (i1), (d) - (i)
5. (@) - (), (b) - (1), () - (iid), (d) - (ii)

5 (@) - (@), (b) - (i), (c) - (i), (d) - (iv)

Ld
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G — 1 G — 11 IR o

T - 1 TS - 11
(wg) (srafotfer i)
(a) @R AFCARS () TboTD
(b) VBT SHTTS (i) URRE TR TA0Ed B

L

() UlelieeliRecs qrafthrger (i) fedmeiiss

(d) TEgRH ffegey (iv) eI HoAMl Hehyu Ieh

Gleliel TR R S Fae
Options :

, () - (iii), (b) - (iv), (c) - (1), (d) - (ii)
, (a) - (i), (b) - (iv), (c) - (1)), (d) - (1)
5. (@) = (v), (b) - (i), (¢) - (iii), (d) - (ii)

5, (@) - (@), (b) - (i), (c) - (i), (d) - (iv)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following set of elements can be detected using sodium fusion extract ?

Options :

: Nitrogen, Phosphorous, Carbon, Sulfur

Ld
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5 Sulfur, Nitrogen, Phosphorous, Halogens

N Phosphorous, Oxygen, Nitrogen, Halogens

A Halogens, Nitrogen, Oxygen, Sulfur

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Grefieiyd) Hergedrdl I T Feam FgerTed] b TNe Il ?

Options :

, IS, BRGRH, BT, TR

, PR, TRICISH, B, Belrer ™

, PIEORH, SMFAST, TACRT, BerorTq

, TS, TRICISH, AfereT, by

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I+ Hyperconjugation is a permanent effect.
Statement I1:  Hyperconjugation in ethyl cation ‘CHS_EHZ) mvolves the overlapping

of C5p2 ~His bond with empty 2p orbital of other carbon.

Choose the correct option :
Options:

1. Both statement I and statement II are true
, Both statement I and statement II are false
3 Statement I is correct but statement II is false

4. Statement I is incorrect but statement 1I is true

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wl 3 M ool o
M1 TR Sed @ 16 PRRawd TRUW 9.

faum 11 (CHs'EHz) a1 deefen W G~ His 3y g g R 2p

PG I B
TR WY .

Options : .
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, Taum= 1 9 faum= 11 SR8 _eR e,

, faem 1 9 fagms 1S 9 amed,

, faum 1 avmR ame wor faur 11 9% e,

, faue 1 9 3me woT faen 11 aRTeR 37,

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OH (|)

| Conc. HBr
C-0OCH;, » P
H,C | (Major Product)

Consider the above reaction, the major product “P” formed is :

Options :
]
C—0OCH
CHy ’
1 Br
Br (|:|}

Ld
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OBr (|:|)
C—-0CH;
CH3 |
Br {ﬁl
C—Br

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OH C|)

| a9 HB
C-OCH; "y
e Y (7 )

et ffchdT e B, TR Setell TY@ I16 “P”

Options :
|
CHy
1 Br

Ld
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Br ﬁl
k-

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OH
X
G)\/Com. H,S0, ©/\/ + m
>
A
A B

Consider the above reaction, and choose the correct statement :
Options :

: Compound A will be the major product
Compound B will be the major product

2.

2 Both compounds A and B are formed equally

A The reaction is not possible in acidic medium

Ld
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OH
X
i Hy90, 1 A
A >
A

B

I AREA AT & M R g e

Options :

AT A T YUY IAG I

, YT B T YW I I

, Qe YT A STIfT B I IO AR I

, AU 3 AT BIUTR A&

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i) DIBAL-H .
R-CN )" 1,0 R —Y

Consider the above reaction and identify “Y”.

Options :
, —COOH

, —CH,NH, g collegedunias

~



, —CHO

—~CONH,
4,

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i) DIBAL-H _

i) H,0  R-Y

R —-CN

auter SrfYfcrar wreTra &ar Smfor “Y” Il

Options:

, —COOH

, —CH,NH,

5 —CHO
—CONH,

4.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L
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The correct sequence of correct reagents for the following transformation is :

NO, OH
—>
Cl

Options :
(i) Cly FeCly (i) Fe, HCI (iti) NaNO,, HCL, 0°C (iv) H,0/H*

() Fe, HCl (i) NaNO,, HCI, 0°C (i) H,0/H* (iv) Cl,, FeCl,
, (OFeHC (i) QL HC (iti) NaNO,, HCL, 0°C (iv) H,0/H*
, (0Cly FeCly (i) NaNO, HCI, 0°C (i) Fe, HCl (iv) H,O/H"

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gl TS aRIaN AARhATHRGTal SR B e,
NO, OH
@ é\
Cl
Options:
0 Cl,, FeCl, (i) Fe, HCI (iii) NaNO,, HCI, 0°C (iv) H,O/H*

(i) Fe, HCL (i) NaNO,, HCI, 0°C(iii) H,O/H" (iv) € gcoueged""'a



, (FeHCL (i) Cl, HC (iiiy NaNO,, HCI, 0°C (iv) H,O/H*

, () Cly FeCly (i) NaNO,, HCI, 0°C (i) Fe, HCI (iv) H,O/H*

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
What is A in the following reaction ?

O
K Q.,®
N K
(i) K
CH,Br
. 0
> A
(i) 90[—1/1—120 (Major Product)
Options:
OK
KNH
1 O
CH,NH,
2.

Ld
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O

k@

CH,OH

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

et AT A8 I 318 ?

0
K 0. ®
N°K
(i) (
CH,Br I
> A
(i) ®on/H,0 (@ 3<Te)
Options :
S
KNH
1 O

2. .
collegedunias
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CH,NH,

KNH ~CH,

CH,OH

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I :  Penicillin is a bacteriostatic type antibiotic.

Statement Il : The general structure of Penicillin is :

O
R)KN
H S\ 3 \<CH3
CH,
N
0/7 1 CORH

Choose the correct option :

Options : g collegedunia:
India’s largest Student Review Platform
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~ Both statement I and statement II are true

—_—

~ Both statement I and statement II are false

N

~ Statement I is correct but statement II is false

w

~ Statement I is incorrect but statement 1I is true

D

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el 39 fJum el amea.
faam1.  offefe & ve RramRidr ginifas .
faum 1. vFffor= = e,

O
R)KN
H N\ S\<CH3
CH,
N
OJ/ COOH
H
RR WY a7
Options :

, faum= 1 9 fdum= 11 SR8 _ER erme.

, faem 1 faer 11 < 9 oimed.
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faem 1 SRR 3 uor fdurE 11 9 o
3.

, UM 1 9% 3me qor faum I SRR o7e.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Compound A gives D-Galactose and D-Glucose on hydrolysis. The compound A'is :

Options :
1. Maltose

, Lactose
3. Sucrose

A Amylt}se

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W1 A W Wel YYECA YO i D-eidew 31U D~ foo, WY A
IR,

Options:

A

, oSl

L
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Chemistry Section B

SectionId:

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Z50y()+0,(¢) -» Z05(g)

864351851
4

Online
Mandatory
10

5

20

Yes

1
8643511078

Yes

The above reaction is carried out in a vessel starting with partial pressures P, 2=250 m bar,

Py, =750 m bar and Py, =0 bar. When the reaction is complete, the total pressure in the
2 3

reaction vessel is m bar. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

L
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Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
250,T) +O,) -» 50,

et AT SR Py =250 m bar, Py =750 m bar Y Py =0 ber ARG T
S 1 Wi e, W e T 3R e Wisae T IR m bar .

(e o)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of electrons in all bonding molecular orbitals of 0%" is

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText gﬁo!lge.gdeguﬂl.fam
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Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

03~ ¥ Gediet (bonding) Y0 HEcT TGV GerdeiTeE T .

(qufes )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
When 400 mL of 0.2 M HZSO4 solution is mixed with 600 mL of 0.1 M NaOH solution, the

increase in temperature of the final solution is x10~2K. (Round off to the

Nearest Integer).

[Use : H* (aq) +OH ™ (aq) » H,0: .-“.\TH = -57.1 k] mol !
Specific heat of H0 = 418K~ g~

density of 0 = 1.0 g em™

Assume no change in volume of solution on mixing|

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal gﬁo!lesg?iluqlfa

~



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Wl 400 mL 0.2 M H,50, S0 600 mL 0.1 M NaOH 3ravl fiaiet ] TN ered
SIauTE e d8 _ x1072K 9% (Fae Q)

| R : H* (efi)+ OH ~(5et) » H,0: A, H = ~57.1 k] mol !

o) fore 9= 418 J K1 g7

H,0 & &= 10 g em™

PR v STERAMI 93 B T o W

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a solvent 50% of an acid HA dimerizes and the rest dissociates. The van't Hoff factor of
theacidis X102 (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes gcollegedunias
Answers Type : Eq ual @ India’s largest Student Review Platform



Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

HA &1 i Tl Sraamd 50% feahad 2 onfdy areiam foem e, el & 2%

Ty X107 &, (W i)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equilibrium constant for the reaction

A == Mg + 3 O

is Kp=4. At equilibrium, the partial pressure of O, is

Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

atm. (Round off to the

L
gcollegedumas
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Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

SfHfoptraTdl et e K =4 3e.

A(®) == M(¥) + % O, (a)

Gcrenenn O, a1 e T atm T8, (S@ QU

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For the cell Cu(s)|Cu®* (ag) (0.1M)|| Ag™ (aq) (0.01M)| Ag(s)
the cell potential E; =0.3095 V
For the cell Cu(s)|Cu** (aq) (0.01M)]|Ag ™ (ag) (0.001M) | Ag(s)

the cell potential = x1072 V. (Round off to the Nearest Integer).
2303 RT
[Use : P 0.059]

Response Type : Numeric

Evaluation Required For SA : Yes gcollegedunias

~



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Cu(®)| Cu?* (S[ei) (0.1 M)||Ag(STer) (0.01M)|Ag(e)
RIS

ge fdwd E; =03095 V

Cu(®)| Cu?* (Seir) (0.01M)||Ag * (STefrd) (0.001M)|Ag(®)
& TerdTel

e fqug= x10~2 V.

(STqe5ed] quTieTd)

2.303 RT
[ArowT s ———

Response Type : Numeric

= 0.059]

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA .
collegedunias

Correct Marks : 4 Wrong Marks : 0

~



For the first order reaction A = 2B, 1 mole of reactant A gives (.2 moles of B after
100 minutes. The half Life of the reaction is min. (Round off to the Nearest
Integer).

[Use : In2=0.69, In 10=23

Properties of logarithms : In 2¥=y In x;

ln[%ﬂnx—lny]
y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A 2B &1 oW BT MBS, 1 AT A 7 SO 0.2 A B 100 e f
e e min 3.

(e )

[T :In2=069, In10=23
AREH T« In /=y In 1.
Y y

ln{f]ﬂnx—]ny]

y
Response Type : Numeric
Evaluation Required For SA : Yes .
collegedunias

Show Word Count : Yes 3



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3 moles of metal complex with formula Co(en),Cl, gives 3moles of silver chloride on treatment
with excess of silver nitrate. The secondary valency of Co in the complex is

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Colen),Cl, 1 ST eIl 3 AeTert fowy W e Tge e 3 e ey
NS 1det. Co o Welemiiel Q@ Wl 6. (e T

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :
1 gcollegedunlas
India’s largest Student Review Platform
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Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The dihedral angle in staggered form of Newman projection of 1,1,1-Trichloro ethane is

degree. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1,11 SRR 39 <Y e ana BUn fgae EN
W)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

fofl o, (qia

L
gcollegedunlas
India’s largest Student Review Platform
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10.0 mL of 0.05 M KMnO, solution was consumed in a titration with 10.0 mL of given oxalic
acid dihydrate solution. The strength of given oxalic acid solution is x107% g/L.

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

10.0 L feeiean dieTied Tl SRERgea Ve 10.0 mL 0,05 M KMnO, 3T

el foeledn Siasierd ST GOl el X102 g/L 9. (S
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Mathematics Section A

SectionId : 864351852

Section Number : 5 gcollegedunias
India’s largest Student Review Platform

~

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 8643511079
Question Shuffling Allowed : Yes

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let f: R = R be defined as

flx+y)+f(x—y)=2f(x) f(v), f[%}= —1. Then, the value of
20
Z (k + f(K) is equal to :

Options:

: sec”(1) sec(21) cos(20)
5 cosec?(21) cos(20) cos(2)

3 cosec?(1) cosec(21) sin(20)

A sec’(21) sin(20) sin(2)

L
gcollegedumas
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
el f:R - R

1
f(x'l'y)'l'ﬂx'y):Qf(x)ﬂlj); f[_]= -1 R ﬁﬁaﬁ aﬁ i kzl sin )Sil'l(k'|‘ f(k)) ?W

EHER IR,

Options:
sec?(1) sec(21) cos(20)

1.

5 cosec?(21) cos(20) cos(2)
2 cosec?(1) cosec(21) sin(20)

A sec?(21) sin(20) sin(2)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let the mean and variance of the frequency distribution
o=l 5L=6 n=8 x=9
fi 4 4 u: B
be 6 and 6.8 respectively. If x,is changed from 8 to 7, then the mean for the new data will
be :
Options :
| g

3 .
- collegedunias

~



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b NGRRY| (frequency distribution) 1 %4 3107 R (variance) 841‘;!#[ 6 30 6.8
36, WX x, @ 8 NG 7 Seeiell 9, T TN RGN (data) H 3.

Options:

17
. 3

uestion Type : MCQ Is Question Mandatory : No .
Q ype:MCQIsQ Y gcollegedunlag
Correct MarkS : 4 Wrong MarkS : 1 India’s largest Student Review Platform

~



Consider a circle C which touches the y-axis at (0, 6) and cuts off an intercept 645 on the
1-axis, Then the radius of the circle Cis equal to :

Options :
1. 8

, /53

B2

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9@ C o1 e &1 o - (0, 6) 7 g W 9l oy 2- TR 65 T AeReEmel
I, T g8 C & Fenr | I,

Options:
1. 8

, /53

2

Question Type : MCQ Is Question Mandatory : No .
collegedunias
correct MarkS : 4 Wrong MarkS : 1 India’s largest Student Review Platform

~



Two sides of a parallelogram are along the lines 4v+5y=0and 7x+2y=0. If the equation

of one of the diagonals of the parallelogram s 11x +7y=9, then other diagonal passes through

the point :

Options:

L)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T TR DI S el a1 dy+5y =0 A Ty +2y=0 18, R 1 TR

WS V@1 BV TG 111+ 7y=9 35, T o1 90 fdg A

Options :

L2

, (22)

Ld
gcollegedunlag
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let f:[0,¢) — [0, 3] be a function defined by

max {sint: 0st=sx},0sx<m7

f(x)={

2 4+ cosx, x>

Then which of the following is true ?

Options :
: f is not continuous exactly at two points in (0, %)
, f1is continuous everywhere but not differentiable exactly at two points in (0, =)

3 f1s continuous everywhere but not differentiable exactly at one point in (0, )

A fis differentiable everywhere in (0, o)

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
THST el f:[0,) — [0, 3],

max {sint: 0<st=x},0sx=< 7
f&) = 2+ cosx x>
. £
gR Ff¥ad For arme.
T GleieUd! DIV el 3T ?
Options :

0, o) AL T aF figaar f&1 Had . .
. O ) f gcollegedunlag

~



0, o) ALl T figar f ¥ 38 W cieiiea G fiqay fasery .

2.(

0, =) AETl Tl fogaR £ e aMe W ki U6 Mg fadera .

3, |

(0, ) A UAF ToigaR f RFeag .

4.

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following is the negation of the statement “for all M > 0, there exists xeS such

thaty = M"?
Options:
: there exists M > 0, there exists xeS such that x < M

5 there exists M > 0, there exists xeS such that x = M

3. there exists M > 0, such that x < M for all xeS

4 there exists M > 0, such that x = M for all xeS

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl feoren e B RYR “wd M > 09181, xS T i 1 & &t x> M
T QYR T 98 ?

Options :
g collegedunia:s
. M >0 xS R IS, AN A1 x < M 37 SR Debopiata

~



, M > 0S¥ xeSd 3R Mg, <A1 |el x = M 32,

. M >0 ARG M, S BT x < M 94 xeS I 3718,

, M > 09 3w 3me, S P x = M4 xeS AT 3ATE.

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The area of the region bounded by y—x=2 and x?=1 is equal to :
Options :

2

1. 93

I | W

M| O

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

! A

e 2: T o : m ] 1
y-x=2 810 2=y T GR UGG (bounded) defedl &GS WK gcollegedunlag

~




Options :

W | A= WM

M| O

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let y=y(1) be the solution of the differential equation (v-x*)dy= (y+ x>~ 3!)dy, x > 2.
It y(3) =3, then y(4) is equal to

Options :

1. 12

2. 8

Question Type : MCQ Is Question Mandatory : No gcollegedunias

~



Correct Marks : 4 Wrong Marks : 1
ol focerds WET (1- )y =(y+ypd -3, x> 2, B T y=y(1) HE. W y(3)=3,
W y(d) TR 9.

Options :
1 12

2. 8

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The point P (a, b) undergoes the following three transformations successively :

(a) reflection about the line y=1.

(b)  translation through 2 units along the positive direction of x-axis.

T
(c) rotation through angle 1 about the origin in the anti-clockwise direction.

17
If the co-ordinates of the final position of the point P are [‘ N J, then the value of
2a+bis equal to:
Options :
1.9

Ld
gcollegedunlaé
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4. 13

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g P (o, b) ¥8) H el @ HURR 8
@) YW y=y 9w WA (reflection).

(b) x-3eTe & fCRRA TN 2 Th d VIR (translation),

(c) WIS =1 S T Brearl g Gemel (anti-clockwise direction) B E
W TRae (rotation).

1 7
mpwmﬁaﬁﬁﬁm(-?—z}m,mﬁbﬁww .
Options :

1. 5
2.7
3. 9
4 13

Ld
gcollegedunlag
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A possible value of ', for which the ninth term in the expansion of

10
1 4 1 E
[310g3\}25x'1 + 3(' g) logs 5 ”)] in the increasing powers of 3{‘ g] logs(5"+1)

is equal to 180, 15 :

Options :
1. 0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10
log, (5 1+1)] T

Jog 5 47 3(

ﬁwm@ﬂm(nmm)wﬁwﬁwa{ s Wi e w
TR T IR,

Options :
1. 0

L
gcollegedunlag
India’s largest Student Review Platform

~



Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let € be the set of all complex numbers. Let

S, ={zec: |z-2/ <1 }and
S, = {zeC: z(1+i)+3 (1-i) = 4}

2

5
z—_

Then, the maximum value of 5

Options:

3+ 22
1. 4

3+ 22
2. 2

54 242
3. 2

5+ 242
4. 4

for zeS; NS, is equal to :

L
gcollegedunlag
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T ¢ & 4 WY T 69 O,
S, = fzec: [z-2 <1|} &

S, = {zeC: 2(l+)+7 (1-1) 2 4},

2
5
W, |2~ 7 7 B el (maximum value) z € 5, N Sﬁl’cﬁ, ERER 9.
Options:
34+ 22
1. 4
3+ 22
2 2
5+ 242
3. 2
5+ 242
4, 4

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

X

Let f: (a, b) = R be twice differentiable function such that f(x) = L g(t)dt for adifferentiable

function g(x). If f (x)=0 has exactly five distinct roots in (a, b), then g(x)g'(x)=( Re ~*

least : .
collegedunias
O ptions : India’s largest Student Review Platform

~



: three roots in (a, b)
five roots in (a, b)
seven roots in (a, b)

, twelve roots in (a, b)

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T f: (a,b) - RE &1 e wr a1 @) (1) = Eg(t)dt, R Bt g(n) T, oK
f(x)=0% (a, b) Tl et > 1 b aMeqt, T g(x)g'(x) =0 T e

Options :

(@b A4 A b
, (ab) AdIe U Hob
, (@) AT A o

, (@b) A4l IRT o

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ld
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Let A and B be two 3% 3 real matrices such that (A2~ BY) is invertible matrix, If A>=B° and
A%B2= AZB?, then the value of the determinant of the matrix A%+ B s equal to :

Options :
1. 0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

VAT A G0 B & 3 33 I AR e, O 31 (A2-B2) & I (invertible) T
IR, WA =P &t ATB2=A%B}, ® AY+B° Rl FROE (determinant) 9 H
TR 3R,

Options :
1. 0

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1 gﬁo!letgdegumfa

~



Let N be the set of natural numbers and a relation R on N be defined by
R={(r, y) e NXN: ¥3-3x%—x12+3y?=0}. Then the relation R is :
Options :

. reflexive and symmetric, but not transitive
, reflexive but neither symmetric nor transitive
2 symmetric but neither reflexive nor transitive

, an equivalence relation

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A9 N @ 9o SeE 9 o ftr N a¥ |de R gRT fAied o

R={(x, 1) e NXN: ¥ -3x%y-x2+32=0}. ™ ¥4 R e,
Options :

EIal IfoT AT, G HehrD 0N

1

WA WY WA W e HepTHD qOT AT,

2

, AR IRY A B el HPTID 9T Al

HHHAAT Hae
4, MR

gcollegeduniag
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Correct Marks : 4 Wrong Marks : 1

Let @ = max {825in3x. 44c053x] il B = min {82sin3x_ 440353?(}
reR reR '

If 8°+ by +¢=01s a quadratic equation whose roots are o5 and B%, then the value of c=b

is equal fo

Options :
1 42

> 43
3 47

4. 90

Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T = it {825in3x, 44{0533(] aify B = min

{825in3x _ 44c053x}
1eR 1eR |

W §i2+br+e=0% T TG IR WA P off 9 B o, W b W W
IR,

Options :
1. 42

> 43

47 .
> collegedunias
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4,90

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of lim is equal to :
x—0 [%/1—5&1x—§/1+ sinx} 1

Options:

1.0

2 —1

3 —4

4 4

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X
lim q IR 37e.
=0 \§1 - sinx - §1 + sinx} B
Options:
1. 0
> —1
3 —4

4. 4 gcollegedunias
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Question Type : MCQ Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A student appeared in an examination consisting of 8 true - false type questions. The student

guesses the answers with equal probability. The smallest value of n, so that the probability of

guessing at least ‘n’ correct answers is less than E, S

Options :
1. 3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

w1 e 16 W foed, @1 e W-9wd Yere 8 e A, el SRid W
AT 967 §a U 6. 0 B DA T, 1 WO DA B ‘o ] RIS TR

e sl sn 1
N RG] Eﬁaﬂ I R,

Options :
1. 3

2. 4 gcollegeduniag

~



Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For real numbers a and p # 0, if the point of intersection of the straight lines

'x—a__y—l__z—l ix—4:3r-6:z—?
1 ? 3 dngd B 3 3 s

lies on the plane x+2y—z=8, then a—f is equal to :

Options :

1.3

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: r-a y-1 z-1
T G o JIT P £ 0 WE, T WS I 1 —Jz e afvr

@--4 g g=F .
- =~ TEYG f4g, 142y - 2= B AR 916, T o— p RN _

B 3 3
GIFE' gcollegeduniag

~



Options :

1.3

w
~J

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If tan(E
9

X, tm[% are In arithmetic progression and tan(g],. 1l tan(?—:] are also in

arithmetic progression, then [x~2y| is equal to:

Options :
1. 0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L
gcollegedunlas
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W tan E} Y tm(i—;] & 7 47 (A.D) el o tan(g], y tanﬁ—g 2 91 T

43 7E e, T [v-2y| TR .
Options :
1. 0

Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
59 o 5 9 (—) —>)
Let a, band c bethree vectorssuch that a = b X \b X ¢/. If magnitudes of the vectors
39 -
a,b

- = m
and ¢ are /2,1 and 2 respectively and the angle between band ¢ is § (0 <B< EJ’

then the value of 1+tan 6 is equal to :
Options:
1.1

2. 2

, V3 +1

4. llegeduni
coliegedunia:
India’s largest Student Review Platform
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Question Type : MCQ Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

w3 o b R A R A 2= hxlhx o). w3, pah

5 5

¢

R TR (magnitude) GFY |2, 1 9002 a1k AT b e ¢ A W 6 o

Options :
1.1

SectionId :
Section Number:

Section type:

Mandatory or Optional :

0<Bf%}m1+taneﬁww .

Mathematics Section B

864351853
6
Online

Mandatory

L
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Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 8643511080
Question Shuffling Allowed : Yes

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the real part of the complex number = m, g e(

0, T is zero, then the value of
1= 31 cosh

2

sin3+ cos™ s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3+ 2icost 9 [
1-3icosh ‘

9 I TR e,

Response Type : Numeric .
, . collegedunias
Evaluatlon ReqUIred For SA : YeS India’s largest Student Review Platform

Z

7

0 g} 1 W W TG A (real part) 9 &, T sin’30+ cosd
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
11 1]
FA=[0 1 1) and M=A+AZ+ A%+, ... +A2 then the sum of all the elements of the
001

matrix M is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0
111
WA={0 1 1/ qfIM=A+A2+ A+ + A% O RO M1 ¥ Weahidl o8l R0
001

9.

Response Type : Numeric gcollegedunias
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let n be a non-negative integer. Then the number of divisors of the form “4n+1" of the
number (10)10- (1)1 - (13)P is equal to .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1
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The distance of the point P(3, 4, 4) from the point of intersection of the line joining the points
Q@ -4, -5) and R(2, -3, 1) and the plane 2v+y+2=7, is equal to .
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Let y=y(x) be the solution of the differential equation dy=e™*¥dy; « € N.

1
If y(log, 2)=log, 2 and (0) = loge[EJ, then the value of « is equal to .
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Let a=i-aj +Bk b=3i+pj-ak and

5 - 5 - - 93 =
integers. If a  b=-1Tand b - ¢=10, then (a X b)- ¢ 1sequal to
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Let E be an ellipse whose axes are parallel to the co-ordinates axes, having its center at
(3,~4), one focus at (4, -4) and one vertex at (5,~4). It mx—y=4, m>0is a tangent to the
ellipse E, then the value of 5m? is equal to
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Let A={neN|n’ < n+10,000, B={3k + 1| ke N} and C={2k| ke N}, then the sum of all the
elements of the set An(B~C) is equal to .
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T A=fneN|nl < n+10000}, B={3k+1 ke N} 1 C=[2k ke NJ, T AnB-O) 7
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The number of real roots of the equation
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